13-1

13

RIEgtE > 42—

RITEFET 4-6-1

03-3969-0307

BiE HEarvy ) —bE SEHMT2EE (2EEH7)
HrEgmeEk | TaRVREVE—
= HERERAAR #E (A)
&
#l # #
X : C ¥ . R
BEDRH B | 2 e E sl o |& Tl w|, |H|
5 £ £ & A g |A A a1 | i | ®wE
g T & & i S
Bl | B| B
FI=EA 2F 8 & 80 — — — 48 80 — | = 900 | 1,100 | 1,000
FEA 2F 3 m 14 — 12 — — — — | = 400 600 500
=B 2F 21 & 24 30
40 — — — — | — | 400| 600| 500
102 8 10
¥EB 2F 26 m 12 — 8 — — — — | = 300 500 400
7 TCZ0TT ZENRIN (ZTTBCE3025) |
/ , ' 4
- Y=uAs2 Yy
N y y
\/ :
/ \/ 7
. ,
1 / 7
ey ey 4
7

T/E

Mgt 25—

RS

WIEFRER

A}msmaﬁ B

=[El

AT AR S H T

y
4 7
4, :
PIIREN

74
7

Etafy

/ A N,
N 4 i &

by g

#8R 1/1500




13-2

000G/ 224 i Vi TSy =R=7]
- e e L e
[MESCE23)
o1} SYRF | BTEIH e N,
74 EM T L M — = [BEE AT b
G L ITHNY) BH=Z1% e o
(= S gy
LY YN THEEHE] e = 4 /
wy EE2UET I B
13,9 LM S Rk iy
U BB : w,___dr_&
| EANAIES, o
i G & e T
W BUBVEIL . , ch= ST,
TR LS ENTE 4
oRewn v :
clmdfind EEEEIEE
o[ R [l S £re NE
\ PR emme EES
. =R - PR Imif L N TEgH
Ye o, Ha.}f h o
g2 / etk spY N [¥EN4HNE |
i e Il <[kt N N disl2
b AT et L S [£6 ¥£]) [£G L) W¥
._.ﬂ$l.wﬁ_\£.ml.+mn Eﬁ_wﬂ.___
i £ f LY =, A i EET
[ kS j Lk
TSR
. LS Eﬁ\ )
M T TS FIE Sl W= Schgidy  (MabRcy

HE

[
WM T

(&¢GEEE0d1 1Z) NIYNIZ 1102

Tt E LT

ER LAY,

TS
A FTRITB Lk per

— &< A




13-3

BIEFHET 4-6-1
18 .
I —
13 sS4 p—
FI=A 488) 69m (= - EmELZL &mXEEB80AN)
HEDEZA: - 6m82cm . EEMDERD- - - 10m8lcm
FELEDBE
em82cm 1#BiIE  6m82cm
BiTE 3m08cm
B 20cm
5
g 8 o
-
™
B R
1)) I
A Mg
- (+3]
—
E
o
—
| _
R
ﬁ I
P
i
=L
= |z

| B IR




13-4

TEkEE iR

e . AT EFET 4-6-1
13 mifFibigtz2 4 e ——
FI=EA (488) 69m (FEs - EEFRE)
ERMB 12 A x4 5]=48 A
Em82cm: FEE DIRHE
_ | #E  180cm
BiTE 45cm
L|; e = 30cm
% & 3
£
m | EREORE
52 ¢ mx54cm
OO
o U U0 | B
C T I £
— OO O— e |8
) | U0 | U E
SEneliaEnn ~
U | CHUS
e S
aEnEneEnn
f 0 OO "
g — OO0 O—
O 1 OO 1 O
il
mp R—IL




13-5

13 | #iEptiEit 42—

i EFHT 4-6-1

fIEA (488) 69m

(EHREDH)

fEAF 10 A x8351=80 A

em82cm

o
o

i'

3m8cm

S

Gl

10m18cm

&
=

=
o

&l

=L

TEkHE

BE#h [ D 35 4%

52cmxbdcm




13-6

— . s AEFAT 4-6-1
13 RIEF gt > 3 03-3969-0307
FEA  3m (A -HBFEL JKEE 14N
HEDED: - 4dmd2cm  EEODRA - + - 6mI7cm
4m42cm
=
o
~
(@)
&
w0




13-7

13

RIEFithiEt 2 2 —

i EFHT 4-6-1

03-3969-0307

EEA

31m

(#l - ¥BF)

{55 FA 51

10 A

6mM997cm

4m42cm

HOHRE

1EnE 150 c m
miTE 60cm
=X 10cm

(2 AHhT)

BT ORI
&S 51cm
BiTE 53cm

5 Tlcm




13-8

13 |5t 42—

B ETHT 4-6-1

EHESE  miEtigt o2 —
03-3969-0307

M=EB 21 E4+108) (g - BEfmELGTL mKEE 40 AN)
HEDEZBA: - 5ml0cm . HEDEDBD - - -5mllcm
3m4bcm 4m40cm
BOHE

b 5m77cm
BTE 1m80cm

3m45cm 5m77cm =S 15¢m
O | i m
2 mo|E
s, 1 o
= £ 5 cg
—
i )|
L
& £
[&]
— o
E
» e H—IL n
Thk#E 4 | u
L_jf_ﬂ;_ W= (R

E N




13-9

13 |wimtEte 52—

RITEFET 4-6-1

EIEE  piEtig o2 —
03-3969-0307

M=EB 21+108) (FEg - FEAE])
EAEB 6 Ax451=24 A
4 \x2%5|=8 A
FE 5 (D3RR
&I 120c m
B{TE 60cm
B 33cm
3m45cm Sm77cm EHEORE BE (K)
5becmXxblecm
DR | =M
s m | E
g |2 BHEOSE SR (M)
g . 2 8 o0 |
< 5 52cmxb54cm
g
<
5 &
5} D [:]m
. LI | e
— ] (] §
(] (] £
p =¥ =1 DR
] =
THRE i MR (K
A

e )




13-10

13-3 | #imitsEit 52—

B ETHT 4-6-1

EHESE  miEtigt o2 —
03-3969-0307

=B (21410 8) (EEHREDOH)
HAF 8 Ax3F+6 Ax15=30A
4 ANx25+2 Ax15=10 A
3m45cm Sm77cm
' ' EHREOHRE HE (XK)
m | o _ 55cmx51cm
£ |
5 CTT ELT T # % & | |R | ErEomE BE
E a : : : 1= 52cmXxb4dcm
85 & :
* £
s FE : i i i I




13-11

HIEFET 4-6-1

13 | #iEptiEit 42—

03-3969-0307

EEB 0 26m M -HFLEL HFXEE12N)

HEDEZA: - *3mldcm  EHEOEZD- - - Tmbicm

wo/qul/

AT

3m74cm




13-12

A EFHT 4-6-1
13 :

RIEFithiEt 2 2 —

03-3969-0307

¥ZEB  26m R

EAB 8 A

HL D&

HEig 180cm
BTE 45cm
1 [ 5& 2cm
(2 NEMT)

]
]
wo/Ggw/

[~7]

BFDHRE
H C1 [ HEME 45cm

BEfTE 45cm
‘; = a2 1lecm

3m74cm




